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1
�Earth 
2
�Earthing 
3
�Earth Electrode 
4
�Total Earthing Resistance 
5
�Earthing Loop Resistance 
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6
�( Solid ) Short –Circuit Current  
7
�Earth Leakage Current 
8
�Earthing Conductor 
9
�Neutral Conductor 
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Protective Conductor 10 

11
�Pen Conductor 
12
�Main Earthing Terminal 
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�Live Part��
14
�Earth Potential��
15
�Potential Gradient 
16
�Mobile Equipment 
17
�Simultaneously Accessible Ports 
18
�Residual Current Devise 
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�Switchgear and Control Gear 
20
�Switch Board 
21
�Barrier��
22
�Battery 
23
�Cable Channel 
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�Cable Tray 
25
�Cable Tunnel 
26
�Circuit 
27
�Distribution Circuit of an Installation 
28
�Circuit-Breaker 
29
�Design Current ( of a Circuit ) 
30
�Current Carrying Capacity 
31
�Over Current 
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